S Fn e 3 A 5
H % XK & ® & K & =
B B )11 7K 5 VK PR vz K
BARGPT - - — —
oK WK = K = K
No. F & " H A FLEfE SEEME | B CEXWME | B CFESME | B CESE | K
47 D H & 5.80L F8.6LLF 7.30 | 31 7.32| 31 7.18 5 7.26 4
48 S FH Tz e L] 248 Ll 124 Byl 5 ByeL 4
49 R B FH Tz e L] 248 Ll 124 Byl 5 ByeL 4
50 1, E SEELLF 0.5] 31 0.54K0| 31 0.5 5 0.5 4
51 ) L 2ELLTF 0.1 31 0.1 31 0. 147 5 0. 1435 4
- 453 B oy = 0.1mg/LLL k- 0.61| 31 0.60| 31 0.78| 31 0.78 31
- 7K il - 127 31 125 31 12.3 5 12.6 4
- w8 L 3R - 23.9| 31 24.1| 31 17.0 5 16.4 4
B B AR 1 X B KR | T B R 1B X B K 1R
BAKIGATGRE 7K) —
BN 57637 Hh V4T B 3367 | fEAESF 11215 | MEFH4T BH383F M | BIRST He9EH
No. % = IH H KB R BN SEXME | E | FHE | Bk EE | Bk FEHE | EE| EE | B
47 D H B 5.80L F8.6LLT 7.5 1 7.4 1 7.4 1 7.3 1 7.2 1
48 P HHE Tl e HegmLl 31 HegpLl 31 HegmLl 31 HegmLl 31 Bl 31
49 B = HHE Tl e HegmLl 31 BEiaL| 381 HegmLl 31 HegmLl 31 BEiaL| 381
50 &) B SELLT 0.5A35 1 0.5 1 0.5 1 0.5 1 0.5 1
51 # 53 2L 0. 1A 1 0. 1A 1 0. 145 1 0. 145 1 0. 145 1
- ¥ B o # 0.1mg/LLA 1 0.35| 31 0.38 | 31 0.31| 31 0.54| 31 0.57| 31
- 7K oih - 12.2 1 13.5 1 12.8 1 12.5 1 12.9 1
- g K B i R - 24.1 1 23.0 1 23.9 1 19.3 1 19.4 1
5 S 1 5] 3 ) [ M 7K picl I
£ 7K & 2] W H I i 7K i &
SEEIELT B SEE RIS E R
AT R, WEE) , EREHREme/L), KIR(CC), BEXREHE(mS/m)

ik




